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Study the classification table below.

Living Things

Which of the following are suitable headers for Group A and Group B?

Group A Group B
(1 Can make food Cannot make food
(2) Reproduce from seeds Reproduce from spores
(3) Do not need food to survive Need food to survive
'(4) | Cannot move from place to place | Can move from place to place on
on its own its own
v A)
B)
C)
D)
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,025,628

Primary 3 Science » Primary 3 Science (Term 4) 2 pts

Question 2
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The picture below shows a dolphin which is a mammal.

of the following is not a reason why a dolphin is a mammal?

A) It breathes through lungs.
¥ B) If can swim and live in water.

C) It has an outer covering of hair.

D) It feeds on its mother's milk when young.
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,025,650
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The flowchart below classifies animals into three groups, A, Band C.

[ Animal }

Based only on the flowchart, which of the following are possible animal groups fo

A, Band C? .
A B Cc
(1) insects birds reptiles
(2) birds amphibians fish
(3) insects reptiles amphibians
1(4) birds fish amphibians
A) 1
B) 2
C) 3
v D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,025,659
Qu estion 4 Primary 3 Science » Primary 3 Science (Term 4) 2 pts
Study the pictures below. 2

Which of the following characteristics of living things is shown in both the pictures above?
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A) Allliving things lay eggs.
v" B) Al living things can reproduce.
C) Allliving things can respond to changes.

D) All living things need air, food and water to survive.

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 26th Jun 2020

Last Modified: N/A

QID#: 22,025,682
Question 5 Primary 3 Science » Primary 3 Science (Term 4) 2 pts

The diagram below shows the life cycle of a living thing.

TN
I i

Which of the following living thing(s) has/have the same life cycle as that shown

above? :
A chicken
B cockroach
c grasshopper
D mealworm beetle
v" A) Donly

B) B and C only
C) CandDonly
D) A,Band Conly

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 26th Jun 2020

Last Modified: N/A

QID#: 22,025,695
Question 6 Primary 3 Science » Primary 3 Science (Term 4) 2 pts

The life cycle of a flowering plant goes through stages X,Y and Z as shown in the diagram below.
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Stage Y

Stage X <« Stage Z

If stages X is the stage of the plant's life cycle during which it has no roots and shoots yet, then what is
the name of stage Z of the life cycle?

A) egg
B) seed
v C) adult plant

D) young plant

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 26th Jun 2020

Last Modified: N/A

QID#: 22,025,716
Question 7 Primary 3 Science » Primary 3 Science (Term 4) 2 pts

The diagram shows a tree with Part Q labelled.

Part Q

The function of part Q is to .

A) take in water

v B) make food
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C) keep the plant upright
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D) hold the plant firmly to the ground

Question Type:

Randomize Answers: No

Multiple Choice

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,025,730

Question 8

Primary 3 Science » Primary 3 Science (Term 4)

Jason had two similar plants, P and Q as shown in the diagram below. He cut off all the roots of plant Q
but not the roots of plant P. Then, he planted both plants into similar pots of garden soil. Boil pots of
plants were placed side by side in the open.

plant Q |
roots were not roots were all |
cut off cut off

After a thunderstorm that night, one of the two plants fell out of the pot. Which of the following correctly
identifies the plant that had fallen out and the reason why?

The plant thatfell | Reason for the plant falling out of the pot
out of the pot
(1) P The roots of the plant took in too much water.
¢ The roots of the plant were unable to hold the
@) plant firmly to the soil.
Q The plant had no roots to take in enough
3) water. .
Q The plant had no roots to hold the plant firmly
@ to the soi.
A) 1
B) 2
C) 3
v' D) 4
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 26th Jun 2020

Last Modified: N/A

QID#: 22,025,780
Qu estion 9 Primary 3 Science » Primary 3 Science (Term 4)

Danny wanted to find out if the number of hours a seedling gets light daily affects the number of days
the seedling takes to grow taller by 10cm. He prepared three similar seedlings and conducted an
experiment with them. Which of the following is the correct measured variable for this experiment?

A) The number of hours the seedling gets light daily
B) The amount of water given to each seedling daily
C) The height of the seedling at the start of the experiment

¥ D) The number of days the seedling takes to grow taller by 10cm

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 26th Jun 2020

Last Modified: N/A

QID#: 22,025,865
Qu estion 10 Primary 3 Science » Primary 3 Science (Term 4)

If object X cannot be bent, which of the following correctly describes its property?

A) Object X'is strong
B) Object X is waterproof
¥ C) Object X is not flexible

D) Object X sinks in water

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 26th Jun 2020

Last Modified: N/A

QID#: 22,025,876
Qu estion 11 Primary 3 Science » Primary 3 Science (Term 4)

James wanted to find out which type of paper bag, A, B, C or D would be the strongest. He placed
apples of the same size into each paper bag until the paper bag broke. The table below records his
observations.
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Paper bag A B c
Number of
apples that can
be put into each 10 6 3
bag before it
broke

12

Which one of the following statements is correct?

A) Paper bag C is the strongest
B) Paper bag A is stronger than paper bag D
v' C) Paper bag B is stronger than paper bag C

D) Paper bag D will not be able to hold 8 apples without breaking

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Fri 26th Jun 2020
Last Modified: N/A

QID#: 22,025,906

Question 12 Primary 3 Science » Primary 3 Science (Term 4) 2 pts

Four different pieces of dry cloth, P, Q, R and S, of the same size and thickness were placed in
separate basins containing the same amount of water. Each cloth was quickly taken out of the water
after ten seconds. The water that was left in each basin for each cloth was measured.

The graph below shows the amount of water left in each basin.

Amount of water left in the
ba}sin (units)

b

P Q R s Cloth

Based on the graph, which piece of cloth absorbed the most amount of water?

A)
B)
C)
v D)

w XU O T
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13

A aniron nail
B a steel ruler
C a bar magnet

A) Conly
B) B and D only
¥ C) A, BandConly

D) A, BandD only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 14

happened.

Multiple Choice
No

Fri 26th Jun 2020
N/A

22,025,993

Which of the following is/are magnetic?

D a piece of aluminium foil

Multiple Choice
No

Fri 26th Jun 2020
N/A

22,026,239
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Primary 3 Science » Primary 3 Science (Term 4)

Simon had three metal bars, E, F and G He carried out the following actions and observed what
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Action

Observation

Simon brought one end of metal bar E
close to one end of metal bar F.

metal bar E metal bar F

—_—

Metal bar F did not move at all.

Simon brought one end of metal bar F
close Yo.one end of metal bar G.

metal bar F metal bar G

—_—

Metal bar G moved away from metal

Simon brought one end of metal bar G
close to one end of metal bar E.

metal bar G metal bar E

——l

Metal bar E did not move at all.

Which metal bar(s) is/are definitely a magnet(s)?

A) Gonly
B) EandF only

v' C) FandGonly

D) E,Fand G

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,274

Question 15

Primary 3 Science » Primary 3 Science (Term 4)
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" The diagram below shows four magnets, A, B, C and D, and a compass.

pos}r(tl on L__l.__ compass -
A
The north pole of magnet D is shown in the diagram. If another compass is placed

at position X, which of the following correctly shows what this second compass
- would display? . '

1) !

@)

=2® ®

3
(4)
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,290
Question 16 Primary 3 Science » Primary 3 Science (Term 4) 0 pts

Section B: (20 marks)This section is designed for extended answers that parent/ teacher will
have to assign and guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it
was designed in such a way that it requires manual assistance.

The diagram below shows animal X. Animal X is a reptile
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What outer covering does animal X have?

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,323

Correctly answered feedback
It has dry skin covered with scales.

Incorrectly answered feedback

It has dry skin covered with scales.

Question 17 Primary 3 Science » Primary 3 Science (Term 4) 0 pts
Animal X was on a stone pavement. It noticed a human walking towards it and immediately crawled
away to hide in the bushes.

Which characteristic of living things did animal X show?

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,344

Correctly answered feedback

Living things respond to changes.

Incorrectly answered feedback
Living things respond to changes.

Question 18 Primary 3 Science » Primary 3 Science (Term 4) 0 pts
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The table below shows a classification chart.

Living things
[ i ]
Make food - Do not make food
I I ==
]Earﬂmrs‘I [ Do not bear flowers 7
l Cc
[
A - | B
Based on the chart above, state a difference between living things A and B.
Question Type: Essay
Date Added: Fri 26th Jun 2020
Last Modified: Tue 22nd Sep 2020
QID#: 22,026,366
Correctly answered feedback
Living thing A bears flowers but living thing B does not.
Incorrectly answered feedback
Living thing A bears flowers but living thing B does not.
Question 19 Primary 3 Science » Primary 3 Science (Term 4) 0 pts

Based on the chart above, which of the living things A,B and/or C, is/are plants? Explain your answer.

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,376

Correctly answered feedback
Living thing A and B are plants. Both make their own food and only plants make their own food.

Incorrectly answered feedback
Living thing A and B are plants. Both make their own food and only plants make their own food.

Question 20 Primary 3 Science » Primary 3 Science (Term 4) 0 pts
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18. (a) Animal Zis amammal. Write the names of the stages of animal Z’s life

ClassMarker - Manage Test

cycle in the boxes provided in the diagram below.

M

Question Type: Essay

Date Added:

Fri 26th Jun 2020

Last Modified: N/A

QID#:

22,026,384

Correctly answered feedback

P

ADULT YOUNG

R~

Incorrectly answered feedback

AT 66

ADULT YOUNG

R~

Question 21

Primary 3 Science » Primary 3 Science (Term 4)

Another animal, animal Y, has a larva and pupa stage in its life cycle. State one difference between
animal Y in its larva stage and animal Y in its pupa stage.

0 pts
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Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,405

Correctly answered feedback
Animal Y in its larva stage eats but Animal Y in its pupa stage does not eat.

Incorrectly answered feedback
Animal Y in its larva stage eats but Animal Y in its pupa stage does not eat.

Jonathan carried out an experiment using two similar set-ups as shown in the
diagram below. He placed both pots in a dark cupboard.

He watered the seeds in pot E daily but did not water the seeds in pot F at all.
After a week, the seeds in pot E germinated butmeiseeds in pot F did not.

(a) Based on the information above, complete the following sentence by
circling the correct answer in the brackets. [ 1]

Seeds ( need / donotneed ) light to germinate and seeds

¥v" A) do not need

B) need

Question Type: True False

( _nwd / donotneed ) water to germinate.

A) do not need

v B) need

https://www.classmarker.com/a/tests/test/?test_id=1418594&trk=edittest_inrow_edit

Question 22 Primary 3 Science » Primary 3 Science (Term 4)

Date Added: Mon 13th Jul 2020

Last Modified: N/A

QID#: 22,386,102

Qu estion 23 Primary 3 Science » Primary 3 Science (Term 4)

0.5 pts

0.5 pts
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Question Type: True False

Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,386,107

Question 24

ClassMarker - Manage Test

Primary 3 Science » Primary 3 Science (Term 4)

Jonathan then moved pot E from the cupboard to the garden and continued to
water the seedlings daily. He recorded the number of days the seedlings took

to reach a height of 10cm.
He also repeated the whole experiment using seeds from plant W. The table
below shows the data he collected.
Number of days the seedlings took to
Type of seed reach a height of 10cm after the
seeds germinated.
Seeds from plant T 15 days
Seeds from plant W 20 days

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,433

Correctly answered feedback

Incorrectly answered feedback

Question 25

(b) Based on the data above, which

plant, T or W, had seedlings that grew at
faster speed? Explain your answer. e . [1]a

Plant T. The seedling of plant T used fewer days to reach a height of 10cm after germinating.

Plant T. The seedling of plant T used fewer days to reach a height of 10cm after germinating.

Primary 3 Science » Primary 3 Science (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1418594&trk=edittest_inrow_edit
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The diagrams below show two different types of plants, X and Y.

TN Il

= j plant X

Both plants X and Y grow on supports. What does this show about both their stems?

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,449

Correctly answered feedback

Both their stems are weak.

Incorrectly answered feedback
Both their stems are weak.

Question 26 Primary 3 Science » Primary 3 Science (Term 4) 0 pts

Without supports, plant X and Y can still grow but they can frow healthier if there are supports. Explain
how growing on supports help the leaves of plants X and Y.

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,459

Correctly answered feedback
Growing on supports allow the plants to get more sunlight to make food

Incorrectly answered feedback
Growing on supports allow the plants to get more sunlight to make food

Question 27 Primary 3 Science » Primary 3 Science (Term 4) O pts
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Jack wanted to find out if providing plant Y with mineral Z would help it to grow even healthier. He
obtained two similar pots of soil, each with a plant Y growing on support. What should the changed

variable of Jack's experiment be?

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,507

Correctly answered feedback
020c) He should put mineral Z in one pot of soil but not in the

|

Incorrectly answered feedback
020c¢) He should put mineral Z in one pot of soil but not in the

|

Primary 3 Science » Primary 3 Science (Term 4) 0 pts

Question 28

Ashley designed a fishing game for young chi ‘
_ ng children. She bought many col
balls that had a loop as shown in the diagram below. ° RS

loop

She placed all the coloured balls into a tank of water She then ti i

' . ! 2 n tied a string to
one end of a stick and tied a hook to the end of the string. The young child?en
will need to use the hook to fish out the coloured balls. Unformnate:ijhen
Ashley placed the hook into the water, this was what she observed,

hook

’ \C string | “Stiek

(@) What is the problem that Ashley faced with the hook? [1

Question Type: Essay
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Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,529

Correctly answered feedback
The hook floats on water.

Incorrectly answered feedback
The hook floats on water.

Ashley knows that she needs to get a hook of a different material from the one she has. Suggest one
material that the hook can be made of to solve her problem.

Accepted answers:

v metal

Question Type: Free Text

Give one reason why the stick should not be made of glass. Explain your answer.

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,661

Correctly answered feedback
Glass breaks easily when dropped. It would be dangerous for young children when the stick
breaks.

Incorrectly answered feedback
Glass breaks easily when dropped. It would be dangerous for young children when the stick
breaks.

https://www.classmarker.com/a/tests/test/?test_id=1418594&trk=edittest_inrow_edit
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Date Added: Mon 13th Jul 2020

Last Modified: N/A

QID#: 22,386,034

Question 30 Primary 3 Science » Primary 3 Science (Term 4)

Question 31 Primary 3 Science » Primary 3 Science (Term 4)
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Kevin was standing between two panels, A and B, made of different materials.
Two identical pots of plants were placed behind each panel as shown in the
diagram below.

panel B

From where he was standing, Kevin could see the pot of plant behind panel A
very clearly but could not see the pot of plant behind panel B at all.

What does the above information tell you about the transparency of the
materials that panels A and B are made of? 2]

Panel A

Panel B

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,705

Correctly answered feedback

Panel A allows most light to pass through but panel B does not allow light to pass through

Incorrectly answered feedback

Panel A allows most light to pass through but panel B does not allow light to pass through

Question 32 Primary 3 Science » Primary 3 Science (Term 4) O pts
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Derrick created two electromagnets using iron nail X and iron nail Y as shown.

in the diagram below.

iron nail X

iron nail Y

l

a) He wanted to find out which electromagnet was stronger. He dipped the
shar!J end of each iron nail into a box of iron pins one at a time. What will
Derrick observe if iron nail X is the stronger electromagnet? [1]

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,838

Correctly answered feedback
Iron nail X would attract more iron pins than Iron nail Y.

Incorrectly answered feedback
Iron nail X would attract more iron pins than Iron nail Y.

Qu estion 33 Primary 3 Science » Primary 3 Science (Term 4)

Derrick wanted to make iron nail Y a stronger electromagnet than it is. Suggest one way he could

change the electrical set-up for nail Y.

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,854

Correctly answered feedback
He can increase the number of batteries.

Incorrectly answered feedback
He can increase the number of batteries.
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Qu estion 34 Primary 3 Science » Primary 3 Science (Term 4)

(c) An electromagnet instead of a permanent magnet is often used in a
_scrapyard to separate magnetic materials from the non-magnetic ones.
The crane operators carry the magnetic materials away from the
scrapyard to a collection centre as shown in the diagram below.

electromagnet

magnetic materials

cotecton csnve. —— S GTREHED

Why is it better to use an electromagnet instead of a permanent magnet at
the collection centre? [1]

crane
operators

Question Type: Essay

Date Added: Fri 26th Jun 2020
Last Modified: N/A
QID#: 22,026,870

Correctly answered feedback

An electromagnet can be turned off, losing its magnetism easily such that it could drop the
magnetic materials into the collection centre

Incorrectly answered feedback

An electromagnet can be turned off, losing its magnetism easily such that it could drop the
magnetic materials into the collection centre
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